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W e B

/26,11/2

11
4g208 OAZF. gmigy TAE, gmoan 10H3H 10H17H 912/512/ 12H28H 1H30H 2H19H 3H26H
6A1H TA2TH o

BIEHR

HiFAH5E 0.08 0.08
RANER [##50cm| - 0.07 - - - - - 0.07 - - - -
HWR100cm| - 0.07 - - - - - 0.07 - - - -
HIFAE | - 0.07 = = = = = 0.07 = = = =
NEANFR [HFB0cm| - 0.07 = = = = = 0.07 = = = =
HR100cm| - 0.06 = = = = = 0.07 = = = =
AT | - 0.08 - - - - - 0.08 - - - -
BUBI/NERE (HFR50cm| - 0.07 - - - - - 0.07 - - - -
HWR100cm| - 0.08 - - - - - 0.08 - - - -
HIFAE | - 0.06 = = = = = 0.06 = = = =
RN (HF50cm| - 0.06 = = = = = 0.05 = = = =
HR100cm| - 0.05 = = = = = 0.05 = = = =
AT | - 0.08 - - - - - 0.07 - - - -
PR BN [#50cm| - 0.08 - - - - - 0.07 - - - -
HWR100cm| - 0.07 - - - - - 0.06 - - - -
HIFAME | - 0.07 = = = = = 0.07 = = = =
WA/PNER [HiF#E0cm| - 0.07 = = = = = 0.07 = = = =
HR100cm| - 0.09 = = = = = 0.07 = = = =
AT | - 0.07 - - - - - 0.06 - - - -
BENHR [HF#E0cm| - 0.08 - - - - - 0.06 - - - -
HWR100cm| - 0.07 - - - - - 0.06 - - - -
HIFAE | - 0.08 = = = = = 0.09 = = = =
A HEANEAL (B 50cm|  — 0.08 = = = = = 0.09 = = = =
HR100cm| - 0.09 = = = = = 0.08 = = = =
AT | - 0.05 - - - - - 0.04 - - - -
PN TR [HiR50cm| - 0.05 - - - - - 0.04 - - - -
¥ HWR100cm| - 0.05 - - - - - 0.04 - - - -
m S 0.07 = = = = = 0.06 = = = =
Pl AR [HFR50cm| - 0.07 = = = = = 0.06 = = = =
% HR100cm| - 0.07 = = = = = 0.06 = = = =
. AT | - 0.05 - - - - - 0.06 - - - -
T ESRNFE [M#50cm| - 0.04 - - - - - 0.05 - - - -
= HWR100cm| - 0.05 - - - - - 0.05 - - - -
B AT | - 0.06 = = = = = 0.07 = = = =
WIR/NERR (H%50cm| 0.07 = = = = = 0.06 = = = =
HR100cm| - 0.06 = = = = = 0.06 = = = =
HFAE | - 0.09 - - - - - 0.07 - - - -
INEPI/NERE [ 50em| - 0.08 - - - - - 0.06 - - - -
#1%100cm — 0.07 — — - — — 0.06 — _ _ —
HIFAME | - 0.09 = = = = = 0.07 = = = =
FRAHNEE [ BF50cm|  — 0.07 = = = = = 0.06 = = = -
HR100cm| - 0.07 = = = = = 0.06 = = = =
AT | - 0.04 - - - - - 0.06 - - - -
B/ NER [H#E0cm| - 0.05 - - - - - 0.06 - - - -
HWR100cm| - 0.04 - - - - - 0.06 - - - -
HIFAE | - 0.06 = = = = = 0.07 = = = =
SR/ (B 50cm| - 0.06 = = = = = 0.06 = = = =
HR100cm| - 0.06 = = = = = 0.06 = = = =
AT | - 0.05 - - - - - 0.05 - - - -
EIRNERR [H#E0cm| - 0.05 - - - - - 0.04 - - - -
HWR100cm| - 0.05 - - - - - 0.04 - - - -
AT | - 0.07 = = = = = 0.08 = = = =
REAR/NPRL H#60cm| -~ 0.07 = = = = = 0.07 = = = =
HR100cm| - 0.06 = = = = = 0.07 = = = =
AT | - 0.05 - - - - - 0.06 - - - -
HEP/ AR [Hi#50cm| - 0.05 - - - - - 0.05 - - - -
HWR100cm| - 0.05 - - - - - 0.04 - - - -
AT | - 0.05 = = = = = 0.07 = = = =
BUNER  [#%50cm| - 0.05 = = = = = 0.06 = = = =
HR100cm| - 0.05 = = = = = 0.06 = = = =
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M AT
EE/NER [H1750cm
H#100cm — = = = =
BT | - 0.08 = = = = = 0.07 = = = =
A BRI R 500m] - 0.07 = = = = = 0.07 = = = =
WR100cm| - 0.08 = = = = = 0.07 = = = =
HFERT | - 0.05 - - - - - 0.06 - - - -
ZOE/NER |##50cm| - 0.05 - - - - - 0.07 - - - -
WR100cm| - 0.05 - - - - - 0.06 - - - -
BT | - 0.08 = = = = = 0.07 = = = =
PR PE /N AL [ 50cm| - 0.07 - - - - - 0.07 = = = =
WR100cm| - 0.07 = = = = = 0.07 = = = =
HFERT | - 0.06 - - - - - 0.04 - - - -
BRNERE [#R50em] 0.06 - - - - - 0.04 - - - -
WR100cm| - 0.07 - - - - - 0.04 - - - -
HFE | 0.07 = = = = = 0.06 = = = =
S BUNER:  [HR50cm| - 0.0 = = = = = 0.05 = = = =
I WR100cm| - 0.06 = = = = = 0.05 = = = =
I HFE | - 0.07 - 0.07 - 0.07 - 0.06 - 0.08 - 0.08
W S — ke (B2 50cm| - 0.07 - 0.07 - 0.07 - 0.06 - 0.08 - 0.07
B WR100cm| - 0.07 - 0.06 - 0.07 - 0.06 - 0.08 - 0.07
. BT | - 0.05 = 0.05 = 0.05 = 0.05 = 0.06 = 0.05
| 5% = MER S Ocm] 0.05 = 0.05 = 0.05 = 0.04 = 0.05 = 0.05
- WR100cm| - 0.04 = 0.05 = 0.05 = 0.05 = 0.05 = 0.05
;3 BT | - 0.07 - - - - - 0.07 - - - -
WSS N B 50cm| - 0.07 - - - - - 0.06 - - - -
WR100cm| - 0.07 - - - - - 0.06 - - - -
PSS ﬁislr\(f)ﬁ = 0.11 = = = = = 0.10 = = = =
et oim 0.10 0.09
HE100om| - 0.10 = = = = = 0.09 = = = =
25 SR T - 0.09 - - - - - 0.08 - - - -
%§§§§& H#E50cm| -~ | 0.07 = = = = ~ [ o007 - - - -
WR100cm| - 0.07 - - - - - 0.07 - - - -
pevog MEOL — 00— —
A oim 0.03 0.04
HE100om| - 0.04 = = = = = 0.04 = = = =
P ﬁig)ﬁ - 0.08 - - - - - 0.09 - - - -
e cm 0.08 0.08
HE100em| - 0.07 - - - - - 0.10 - - - -
e |HAEAOE | 0.06 = 0.09 = 0.07 = 0.07 = 0.08 = 0.07
FIRFFE yeio0cm] - 0.06 = 0.08 = 0.08 = 0.07 = 0.08 = 0.07
BT | - 0.07 = 0.06 = 0.07 = 0.07 = 0.08 = 0.06
& R R EF R50cm| 0.06 = 0.06 = 0.06 = 0.07 = 0.08 = 0.06
WR100cm| - 0.06 = 0.06 = 0.06 = 0.06 = 0.07 = 0.05
HFAT | 0.05 - 0.05 - 0.06 - 0.05 - 0.06 - 0.05
WIVEER [H£E50cm] - 0.05 - 0.04 - 0.06 - 0.04 - 0.05 - 0.05
WR100cm| - 0.05 - 0.04 - 0.05 - 0.04 - 0.05 - 0.05
HFEE | 0.11 - 0.10 - 0.09 - 0.10 - 0.10 - 0.11 -
7730~ A' -/ [Hi3%50cm]_0.10 - 0.09 - 0.09 - 0.10 - 0.10 - 0.11 -
##100cm| 0.09 - 0.08 - 0.08 - 0.09 - 0.09 - 0.10 -
BT | 0.10 = 0.10 = 0.10 = 0.09 = 0.10 = 0.12 =
HLUN S BMES M1 50cm|_0.10 = 0.09 = 0.09 = 0.09 = 0.10 = 0.11 =
#%100cm| 0.09 = 0.08 = 0.08 = 0.08 = 0.09 = 0.10 =
HFEE | 0.12 - 0.12 - 0.12 - 0.11 - 0.10 - 0.12 -
R 7 i #5352 50em]|_ 0,11 - 0.11 - 0.11 - 0.10 - 0.10 - 0.12 -
##100cm| 0.11 - 0.10 - 0.10 - 0.10 - 0.09 - 0.12 -
ST | 0.11 = 0.09 = 0.08 = 0.09 = 0.11 = 0.12 =
B3 vt — 45 (M 50cm|_0.10 = 0.08 = 0.07 = 0.08 = 0.11 = 0.12 =
##100cm| 0.10 = 0.08 = 0.07 = 0.08 = 0.10 = 0.11 =
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